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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER —1II

Note : This paper contains fifty (50) Multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. A tour to the “Grand Cannyon” would fall under :
(A) Eco tourism (B) Green tourism

(C) Cultural tourism (D) Wilderness tourism

2. Match the following List-I with List-II :
List-I List-II

(a) Adventure tourist (i) Balaji
(b) Spiritual tourist (i) Jehangir Art Gallery
(c) Business tourist (iii) Nariman Point
(d) Cultural tourist (iv) Mount Everest
Code :
(@ (b) (o) (d)
@A) O @) G @)
(B) Gv) @ (D) (i)
(© Gv) (@) G @
(D) @) () (@v) @)
3. Assertion (A) : Tourist inventory index is the ratio of incoming or outgoing tourist
flow in an area.
Reason (R) : Ratio of night spent at a destination to all nights spent on a trip is trip
index.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A) is false but (R) is true
(D) Both (A) and (R) are false
4.  Arrange the following great travellers as per chronological order :

(A) Hiuen Tsang, Benjamin of Tudela, Marcopolo, Ibnbatuta

(B) Benjamin of Tudela, Marcopolo, Ibnbatuta, Hiuen Tsang
(C) Marcopolo, Benjamin of Tudela, Ibnbatuta, Hiuen Tsang
(D) Ibnbatuta, Hiuen Tsang, Benjamin of Tudela, Marcopolo



e SEwT Ue Yee
TITUH — 11

A ;. TEUTA UT W U (50) og-faeheutd Uee ¥ | Ueieh WO ok aF (2) 3feh ¥ | Wuft west
% I |

1. ‘He e’ w1 ygor feges sara stmar &2
(A) iR wien (B) =Ra weA
(C) wiwpfae T (D) dgg FieA

2. @el-1H < 93 ge-11 o 9 gaferd s
g1 gait-11
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4. T fou 3= em w1fE & wespaER foard
(A) Teza @, T3 1 SSIfeH, ArehiuTel, geTeee
(B) T 1 SISTHH, TThidlel], gotereel, fegd |
(C) HTehTdIGH, TSTN T SISITHH, SeTaee, fegm g
(D) gsTeiga, fega |, g T SIS, Arehive
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5. Gautama Buddha got enlightenment at a place named :
(A) Sarnath (B) Lumbini (C) Kapilavastu (D) Gaya

6.  ‘Son-et-Lumier’ shows are not organised at :
(A) Cannore fort (B) Agra fort

(C) Golconda fort (D) Gwalior fort

7.  ‘Surajkund’ hot water springs situated at :
(A) Sanchi (B) Gangtok (C) Hazaribagh (D) Siliguri

8.  Match the following List-I with List-II :

List-1 List-11
(a) Victoria Memorial (i) Banares Hindu University
(b) Salarjung Museum (i) Hyderabad
(c) Calico Museum of Textiles (iii) Ahmedabad
(d) Bharat Kalabhavan (iv) Calcutta
Code :

@@ () (o (d)
(A) @) () G @)
(B) Gv) (@) () ()
© @) @@ @v) ()
(D) @) @) @ Gv)

9.  Match the following List-I with List-II :

List-1 List-1I
(a) Somanath temple (i) Tamilnadu
(b) St. Xavier’s church (i) Himachal Pradesh
(c) Viceregal Lodge (iii) Goa
(d) Vivekananda Rock (iv) Gujarat
Code

(@ (b) (o) (d)
@A) (v) @) @ 0
B () (v @) 0
© O @) @) @)
D) @) (v) @) @



5. 7w 9§ @l fhE Tm R aAfvsiy e gan?

(A) R

6. ‘9w gfw’ yew (IM) wel AR Tl fopan s § 2

(A) FAR

7.  GIoThS S Sl w9 el T €2

(A) g

(B) ftart (C) hiqeTere]
(B) 3R g (C) Tieiger i
(B) TR (C) TSIREm

8. @el-1H < Wl 1 gel-11 S Tl o WY gAfed it

-1 gat-11

(a) fosRIRen w R () IR feg fovafarme
(b) AR ST HIETTA (i) TSTETR
(c) hicToh! & HURICH (ili) STEHTEE
(d) 9RG el o (iv) TR
C

@@ (b) (o) (d)
(A) (@) (@) (G) (iv)
(B) (v) @@ @) @
© @ @ @Gv) (i)
(D) (@) @) @ (i)

9. geHI-1H Q&I o GeAl-11 H < A1 ok |1y gHfera wifs

gei-1 geit-11
(a) Y AT () e g
(b) e Sfaer == (i) fedr=et gew
(c) a=H e A (iii) T
(d) foeemg =EH (iv) TSR
&<

@@ (b) (o) (d)
(A) (v) (@) @) @
(B) () (v) () (@)
© O @ @) (i)
(D) () @v) @) @
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10. Match the following List-I with List-II :

List-1 List-11
(a) Nagarjunacharya (i) Nalanda University
(b) Samudragupta (i) Indian Napolean
() Mahendravarman (i) Mahayana Buddhism
(d) Harshavardhana (iv) Vichitrachitta

(A @O G @G @)
(B) @) @) @ )
(© Gv) (@) () @
(D) @) @) (@v) @)

11. The ‘Pension’ type of accommodation is most popular in :

(A) France (B) United Kingdom (C) Austria (D) Sweden

12. Assertion (A) : Some accommodation types are designed with a particular purpose
of visit in mind where others are open to a variety of users.

Reason (R) : Holiday camps as the name suggest are designed for the holiday tourist
and are not suitable for business tourism.

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
C) (A) is false but (R) is true

D) Both (A) and (R) are false

13. ‘Refferal hotels” are managed by refferal organisations of various hotels :
A) Meeting the standards of service

B) By lending the name without actually managing the property

C) Managed by hotel representatives

D) Imposed quality restrictions without actually managing it
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14. Match the following List-I with List-II :

List-1 List-11
(a) Floatel (i) Accommodation provided on railway bogies
(b) Rotel (i) Accommodation provided on floating bodies
(c) Motel (iii) Accommodation provided on way sides
(d) Aportel (iv) Accommodation provided at apartments
Code
@@ (b) (9 (d)
@) O @ @ W
® ) @) O @
© @) @O @) @w)
D) (v @) 6 G
15. Which ruler made “sarais” along with Grand Trunk Road ?
(A) Akbar (B) Shershahsuri
(C) Shajahan (D) Bahadur Shah Jafer

16. Commercial jet air travel was pioneered by :
(A) USA (B) Great Britain (C) France (D) Germany

17. Match the following List-I with List-II :

List-1 List-1I
(@) American Express founded in (i) 1850
(b)  Yellow Stone Park established in (i) 1925
(c) Disneyland opened in (iii) 1955
(d) First motel in America established in  (iv) 1872
Code :

(@ () (o) (d)
(A) @) G@v) @ ()
(B) (v) @) () @
(© @@ @) (@) @
(D) @ Gv) () ()

18. The Rail Museum of India is located in :
(A) Ghatkopar, Mumbai (B) Egmore, Chennai
(C) Vishakapattanam, Andhra Pradesh (D) Mysore, Karnataka

J—9308 8
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19. Assertion (A) : The road transport is dominated by motor car and coaches.

Reason (R) : Air travel is attractive because of its speed and ranges, as well as
savings, valuable work time when travelling on a long haul basis.

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) is false but (R) is true

Both (A) and (R) are false

SRCEE

o

20. Suez Canal was opened in the year :
(A) 1849 (B) 1859 (©) 1869 (D) 1879

21. The ‘Silk Route’ is an interesting link between :
(A) South and North (B) West and South

(C) South and East (D) East and West

22.  Match the following List-I with List-II :

List-1 List-11
(Country/city) (IATA code)
(a) Austria i) PS
(b) Spain (i) SEL
(c) Seoul (i) AT
(d) Italy (iv) IT
Code
(@ (b) (o) (d)
A) ) 6 @ @)
B G @) @ @)
© O Gv) @) (i)
D) Gv) @) (i) @

23. GIT means :
(A) Grand Interest Tour (B) Grand Inclusive Tour
(C) Group Inclusive Tour (D) Group Interest Tour

24. Thomas Cook made his exploratory visit to America in the year :
(A) 1850 (B) 1856 (C) 1866 (D) 1876

J—9308 10
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25.

26.

27.

28.

Assertion (A) :

Group travel for pleasure covers basic vacation travel in a group. It
can be opened to the public or not, as in a private tour or cruise limited
to the members of a specific club, etc.

Reason (R) : Group travel for business it encompasses a variety of different kinds
of travel projects, some of these projects are more profitable than
others.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is false but (R) is true

(D) Both (A) and (R) are false

Assertion (A) :

Market segmentation is the process of identifying a group of buyers of
a total market with different buying desires or requirement.

Reason (R) : Due to financial and manpower constraints it is not possible to reach
the entire market.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is false but (R) is true

(D) Both (A) and (R) are false

Which of the following is not a function of the advertisement ?

(A) Information to customer

(B) Persuading the customer

(C) Understanding the buying capacity of the customer

(D) Reminding the customer for a repeat purchase

Which of the following is the correct sequence of consumer decision making process ?

(@)

Search for alternatives
Evaluation of alternatives
Development of decision criteria

Need recognition

Decision

@ @) @) (@) (v)
(iv) (i) @ @) (v)
@ (@v) @) (D) (v)
(i) @) (v)  (Gv) @)

12
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29. AnInnovation-Adoption model of hierarchy of consumer responses, match the following
with List-I with List-II :

List-1 List-I1
(a) Awareness (i) Connative stage
(b) Interest (i) Cognitive stage
(c) Trial (iii) Affective stage
(d) Adoption (iv) Connative stage
Code
(@ () (o (d
(A) @) (v) @) (i)
(B) (v) G) @ (i)
Q) () @) @ (@)
(D) i) @ @) (@)
30. To fix the price Rs. 99.99 of any article instead of Rs. 100 is a policy of :
(A) Customary pricing (B) Psychological pricing
(C) Sensitive pricing (D) Promotional pricing

31. Tourism became a part of the Indian Planning only in the :
(A) First Five Year Plan (B) Second Five Year Plan
(C) Third Five Year Plan (D) Fourth Five Year Plan

32. Assertion (A) : Carrying capacity is that level of tourist presence which create impact
on host community, environment and economy that are acceptable
to both tourist and host.

Reason (R) : Inorder to examine the carrying capacity it is not necessary to delineate
the areas of study.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) Both (A) and (R) are false

33. Which one of the following is not a psychographic position of destination ?
(A) Psychocentric (B) Neocentric (C) Midcentric (D) Allocentric

34. ’‘Multiplier effect’ can be calculated as :

1 1 1
~ 1-AC
AC __AC AC
AY
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29. 3UHIHI YTAEHRATS o STTHA & THENH TeeH Ared d fefafed =i gafad i)

gei-1 gait-11
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(d) ST (iv) HES e
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@@ () (9 (d
(A) @ (@v) @) (i)
(B) (v) () (@) (i)
© G @) @ ()
(D) @) @@ @) ()

30. ol o%g 1 HHd TIY 100 F T R TIF 99.99 W = Hifq et €

(A) TEH FHEfEd HHd R (B) THICINIeh SiHa feio
(C) Wogd &HiHd (D) Hagd &

31. YdeA Fe URAE feH ot fewan a2
(A) 9UH GEErEig IS H (B) fadta d=erdita s |
(C) ot deasit drern | (D)  =eft et Jren |

32. PRI (A): T &l T IURRAfT &1 A TR T S HSEM YT, SmERsl 3R
refeHaTl | YuTe STerdl § S foh Teiesh 2R ASTe ol T 2iaT § |
T (R) : T &I T U A ok ford oTemEd ok el it Ul UK
METIF Tl T

) (A) 3R (R) T F& T 3R (R), (A) HT TE TIHT T

B) (A) 3R (R) TH W&l & T (R), (A) T Tl SIS & T |

C) (A) & T W (R) T S|

D) (A) 3R (R) SHi Terd 7|

>

(
(
(
(

33. TidqeAl ot HHIgAu fefq e 9t 7 2
(A) WAThiE® (B) Tahi=eh (C) w=Rf<=H (D) Whi<EH

34. ‘Ui guE’ R fRE TG H TOAT RS Heell 2

1 1 1
— 1-AC
A) 1_AC B 1--AC C py -AC
R e = L = B
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35.

Which of the following forecasting methods draws on group consensus of expert
opinion ?

(A) Delphi (B) Extrapolation

(C) Regression analysis (D) Co-relation analysis

Read the following passage and answer the questions given 36 - 39.

36.

37.

NGO’s have numerous positive roles to play in the delivery of benefits to
communities through tourism initiatives. These roles range from investment and equity
holding in projects to capacity building, advocacy campaigning and consultancy. The
inclusion of NGO’s as one of many stake holders in the process and management of
tourism initiatives and bring about more sustainable and prolonged benefits to
communities. NGO’s have a vital role to play in building civil accountability consultancy,
providing full spectrum alliances (increasing, networking, resource sharing and deep
engagements). In addition they may take responsibility for conducting important
research, providing funds for consultants, taking up equity, building capacity within
the community and triggering skills transfer opportunities. It is often the case that the
roles of NGO’s and governments in providing benefits for communities over lap, for
example when considering capacity building and skills transfer both stake holders can
and should contribute working together to ensure the best outcome for the individuals

and community as a whole.

An example of the government agencies collaborating with an NGO and
communities addressing issues of regulations and policy to facilitate benefits to the
communities is through tourism. In trophy hunting project in Bair valley, Pakistan
local and federal ruling which can hunting were relaxed and permits for Ibex hunting
were issued to allow visiting hunt tourists. The three village communities in the far
valley receive revenue generated from trophy hunting is shared between the
communities and government (75% and 25%) respectively. The initiative is managed
by the committee consisting of representatives of the three villages comprising of five
hunters and five non hunters. This project was technically and financially supported
by the World Wild-life Fund (WWF).

Communities are not able to reap the benefits of tourism due to :
(A) Dislike of tourism activities (B) Are not involved in activities

(C) Lacking tourism potentials (D) Lacking consultancy and campaigning

NGO’s can provide their best role to community :
(A) Infrastructure (B) Consultancy
(C) Full spectrum alliances (D) All of the above
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35.

36.

37.

AT it S fafy fodeg 1@ % amfes THHa % ASIEeE 7 7
(A) SER! (B) dfedivd
(C) G faeror (D) weHwEg fagetom

7 W Ten9r @1 Ufeu & 7T T 997 7. (36 - 39) &7 IV T

R-Ter G Tied yal o SIE SR &l @Y U I H e GRS
JfeRr o1aT et €1 A iR, Uierael B e s TR W PR T | e &I
T, ger-wmelq oIk e a Tel <9 d% o €1 T WISl S U SR Yered H,
FE QU o €9 H TR-ThRT Teensii 1 S{ader, TRl ol SAQT ¥Ruiy 3R efehrei
Y UG Fohell ¥ | TR-TReRT Geeaii sht ANTReh Starel gt fAfHa e, et dar <, goi-
yfaferst Tugia (SR, e, Tl 1 WeR SYAr iR e Haer) ffda &
TE@qu iR T |

THh SAD, o, FEeeqUl I HL, TERIGNS! I & Y&M i, |ERT I A 3R
TR & 3T &A1 o1 T S 1R hieret S&=aiol o STl sl IRd e # fed &
el T I TR BT & Tob THerEl &l oy 9§, TR-TehR geensti 3R WeaRi &l
iy TREReTfed Bl €, SaeRor & o, St amar fmior 3iR e S st 9 &
T qUAH, SATGA TR T T & fd 98 et g & & 9 $ohg wr Hid U
AN & Hehdl & SR BT =1 |

ISR o ol -l Feermeli o 1Y TRepR) TSIf-aai o1 &N, THerl ol ard
gAY A * fod Frami & gef o) ifq 1 grsifed s v % i ST ¥ SRR e,
iferear, § it 2T Hieiae , T o) Wi omew, e omde o1 foy & foan o, <
FR fed 73 IR ez % R o ford wifte St ford 7 aifer Rt Wi yHr Y e |
R feord 1 7 TR 1 2Rl ST ¥ giSd o1 Wi Bl € 98 9YeE 3R SR & o
(75% 3R 25% ) FHHA: WER ISt ST €1 I8 FA™ A1 el o wfarte=ii | s+ afafa gr
Hanferd A &1 3HH uie freit iR Ui R-faert wfret §1 Ie et (ufEsn) aee
TS TEH e (WWF) & deheieht TR foiiar e u o |
TUE T % A1y fRg HRr $37 Ui § 2
(A) T fafaferdi & AaE< N (B)  TafafiE 9 g2 T/ T
(C) WA @i fafifed &val &1 a19d (D) WMWY IR MM &1 191

R-Tert Heemd Ter o fred oot 9% fient i1 ArTeE R HehdT © 2
(A) TR @i (B) TSl Gell
(Q) T TagH TR (D) 39w At
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38. NGO'’s and government’s role is generally synchronise in :
(A) Policy formulation (B) Data analysis
(C) Capacity building (D) Sharing ideas

39. Trophy hunting project got success due to :
(A) Good play

(B) Role of Government
(C) Community interest
(D) Collaboration of NGO’s with different sections
40. Match the following List-I with List-II :
List-1 List-11
2
(@) Po= s : 32 X100 (i)  Fisher’s ideal index
(b) Po1 :% %100 (i) Bowley’s index
L+P
() Pn= X100 (iii) Laspeyre’s index
(d) Po1=vLXP X100 (iv) Paasche’s index
Code :
(@ () (o) (d)
A) @) @) @ 6
B ) @ @ @)
© ) @) O G
D) (v @) @ 6

41. Which of the following is correct formula of chi-square (X?2) :

O-EY (O-E)?
Xl —— >
= " e
O-EY (O-E)?
X—— Aty
© ( 5 ) (D) T
42. Capital budgeting is the process of planning and managing a firms investment in the :
(A) Short term (B) Medium term
(C) Long term (D) Secular term
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38.

39.

40.

41.

42.

J—9308 19

- HE SR TR 1 JfHeht WG 399 T & 99 wfed Bl ©

(A)  Hifa frewor H (B) TS o forwarom

(C) & fmfor (D) o =t eM-yer

2T BT Usiae 1 fohd hIRoT Aoherar fheft 2

(A)  3T==1 HHTe (B) HEHR I YfHehl

(C) wreItas &= (D) Tt i o el TR-ehrdl Heenshi o e

geft-14 <t A7l o gelt-11H < 7l % |y e i)

qa-1 geA-11
(a) por ==F190 5 100 i) TR 1 Eed o (gahi)
2 Po 9o R
3
(b) Po =ﬁ x 100 (i) STl H Sea
L+P
© Pn= ; X100 (ili) TTHYIR I T
(d) Po1=vLxP x100 (iv) ORI T Seod
&< :
@ () (© ()
(A) @) @v) G @
(B) (i) @) @ ()
(© @) @Gv) @ ()
(D) (@v) (@) @G @
HE-THIST (1 2) FT B 1 TE A L?
O-EY (O-E)?
A) X (T] B) X
O-EY (O—E)?
(C 2( 5 ) (D) I3
Yoft arore Y o PN SR Yo i uthan
(A) Y el 4 (B) HeA-eHIA T
(C) dre-hret § (D) feerifers T
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43.

44.

45.

46.

47.

Acid test ratio refers to :

A Current assets B Current assets — inventory
(A) Current liabilities (B) Current liabilities
Current assets — current liabilities b Total liabilities
Total assets (D) "Total equity

Match the following List-I with List-II :
List-I List-11

(a) Wealth maximization (i) Long term investment decisions
(b) Financial management (i) Economic profit
(c) Baumol and Miller-orr model (iii) Assessment of a firms financial condition
(d) Financial ratio (iv) Optimal cash balance for a firm
Code :
@@ () (o (d)
(A) Gv) (@) @) (D)
(B) @) @Gv) @ (@)
© @ (@) (@v) (i)
(D) @) @@ Gv) (i)

Statement of returned earning shows :

(A) How much net income the firm earned

(B) The quantum of old issues of the firm’s stock
(C) Calculation of mid term balance
(D) How much amount the firm borrowed

Assertion (A) : Managers may use share repurchases in lieu of cash dividends to
minimize stock holder taxes if capital gains received favourable tax
treatment over the receipt of the dividends.

Reason (R) : This is a good practice because the managements know the preferences
of the share holders.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) Both (A) and (R) are false

Who argued that authority and responsibility should be related ?

(A) F.W. Taylor (B) Henry Fayol

(C) Elton Mayo (D) Joseph Juran
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43, T GO ST fREY TrEfsd €72

oA Tt A TRE T - e g
(A) IqHM ST (B) EREEECRIR)

FaaH TiEm T - adae Ias Tl QAR
© For TG D) e

44. TeE-1H < A I G-I 9 Gaferd s

gel-1 gei-11
(a) SreehTeda e fofg () HHafd STfehdHRT
(b) ik @y (i) focfta gered
() T = fodia feafa &1 geiee (i) I TUS fHER SR Aiew
(d) T AT TEGH THS HIer (iv) o ez
g
(@ () (o (d)
(A) (v) () (@) (i)
(B) @) (@(v) @) (i)
© @ () (@v) (i)
(D) G) @@ (@v) (i)

45. wfqeniia SwSid 3T 1 oA <9I €
(A) H A fohat foa o Suifsia &t (B)  H o &I o qUH FAITHT SR &t §e
(C) TEAehTicTh WY i qRATOMT (D) H A fohat Tfdn SuR <t

46. SMURYT (A): A TR T WH W GST A H ST HA H-AGER fHerar T @ gorw

STl o o ol A F o oI Tohe SATIRT o gl IR G163 ol
SUIRT T Fehell B

T (R) : g 3Tt RIS § ifoh FeIwe o1 QUi shi Sl ot ST |

(A) (A) 3R (R) I & T 3R (R), (A) FT T THH T |

(B) (A) 3R (R) I W&l § T (R), (A) T Tl TISHIO T T |

(C) (A) W& § T (R) 7o |

(D) (A) 3R (R) S TTerd © |

47. oo g8 =, o T IR et wafga g2
(A) TREs] SR (B) oW wA (C) T A (D) STH® §H
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48. Selecting missions and objectives and the actions to achieve them is known as :
(A) organizing (B) decision making

(C) planning (D) controlling

49. Match the following List-I with List-II :

List-1 List-11
(a) Decentralization (i)  The act of punishing a subordinate
(b) Coercive power (ii) Dispersal of decision making authority
(c) Splintered authority (iii) Responsibility of staffing in an organisation
(d CEO (iv) Decision made by pooling together managers
Code
@@ (b) (o) (d)
(A) @) @@ (Gv) (i)
B) @) () @@ Gv)
© Gv) @) @ ()
(D) @) (@v) @) @)

50. Assertion (A) : Creativity encouraged by group interactions helps in problem solving
by finding new and unusual solutions.

Reason (R) : Creativity brings innovative answers to questions which are otherwise
difficult and group interactions give opportunities to brainstorm many
ideas and evolve solutions to problems.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) Both (A) and (R) are false

-00o0-
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48. A= SR WA 1 T SR I AT HA ht st il wed ¥
(A)  Efed T (B) Tofa & (C) faf@wm (D) fEf@ &

49. FeA-1 < A 1 GAT-11 6 Y GHferd s

gel-1 gait-11
i)  STu oTefiTE Sl TUE <H I B
i) TR o St T A fomsH
iii) ETed H wHAN F® T & e
iv) Wkl Sl gohgl L ok ORI o

Z

50. SMfURed (A): THE 3a:FRa gR diemifed geieTehdl T9 SR STHIERU HHIEH TSl Y
I & H Heg il § |

T (R) : GHTeHsRal ¥ FaTaRt S e € S foh em=ren hfed € iR we a6,
agd § faami w1 foammEafia & iR wwenedi & ga fehem & 3Ta yeH
I 7

A) (A) 3R (R) THI T& T 3R (R), (A) T T TIHH ¥ |
B) (A) 3R (R) TH W&l & T (R), (A) T Tl SIS & T |
C) (A) 9@ ? T (R) TTeid B

D) (A) 3R (R) SHi Terd 7|
-00o0-
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